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/MBS /58 (103) (105) 1 22 58 9 100
F=/Het (95) (96) 7 20 68 5 100
o+/4= (96) (97) 27 30 31 12 100
B At24bA (149) (148) 21 34 41 4 100
Z/AF 41 (41) 18 33 38 11 100
Sski2d
="
1= o|s} (364) (357) 21 29 42 8 100
CH=t A=t of & (631) (638) 13 27 54 6 100
RE/RSY (6) (6) 32 17 16 34 100
A
S/ (28) (27) 26 31 29 13 100
A (187) (184) 19 24 51 7 100
=5Zet (111) (110) 14 28 56 3 100
slo|EZHe} (329) (333) 12 26 55 7 100
Fe (171) (172) 23 24 47 6 100
St 77 (83) 5 50 38 7 100
FAl/E[ Rl /7| Ef (94) (89) 22 26 43 9 100
A A oA E/28H 4 4) 52 21 28 0 100
AN AE UM
o2 AS (236) (236) 13 24 60 3 100
9 AE (422) 421) 17 30 50 4 100
st AS (302) (303) 18 27 45 11 100
2E2/28H 41 (41) 16 24 33 27 100
Xz g
HEo s (337) (341) 4 16 74 6 100
=0/o|3] (342) (334) 37 36 23 5 100
ez Rl ey (63) (63) 5 14 80 2 100
7 ke ke (24) (24) 8 33 59 0 100
Rl (10) (10) 0 20 70 10 100
7|EtE g (29) (29) 20 14 59 7 100
Qe2/RE/ESH (196) (199) 7 40 41 12 100
o|'ddgk
NI (250) (251) 5 16 76 4 100
zc (306) (312) 7 31 54 9 100
H (327) (320) 34 32 32 2 100
RE/RSH (118) (118) 16 32 34 19 100
Etslf Mz Zar gt
el oA (639) (645) 4 22 69 5 100
EARE T (288) (280) 48 34 13 5 100
DE/28H (74) (76) 7 53 16 25 100
Etsll Anl 8%
=83t (731) (738) 5 27 63 5 100
T8 otgt (242) (235) 53 27 14 5 100
2E2/28H (28) (27) 4 32 10 54 100
Xt7] cHM Q1A
AN E = (378) (371) 35 37 26 2 100
A (474) (479) 4 17 74 5 100
RE/RSH (149) (151) 9 37 33 20 100
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[E 7] 7] CHEE Moz
[27] M ENME O 2 Q25 T A7 WEEL2E F7t 71 MYt M5t L =M REE S8 eeAEU
kR ;%
ZAAR | 7HE U o : Z: = @ stiotio i ZiZiZAiag EEY
HH Atddl == AfE ¥ 2 2 M 8 H2 £ 5 5 B 4 =2 gt 28 4
(3) A 8 = B 2 02 9 N O A A = AR =
g m A m (1,001) (1,001) | 32 12 7 5 5 4 2 2 1 1 1 2 21 6 100
a4
X (503) (499) 31 14 10 | 5 4 3 3 2 2 1 1 0 19 5 100
OfXH  (498) (502) 33 .10 4 5 5 4 1 2 1 0 1 23 . 6 100
o
18-29M||  (145) (154) 21 3 115 . 4 1 5 5 3 1 0 0 132 11 100
30-39AMl|  (148) (151) 26 3 14 3 3 3 3 1 1 0 0 5 32 6 i100
40-49M|  (168) (173) 42 7 3 6 3 5 2 3 1 2 0 2 24 2 100
50-59A||  (200) (197) 47 13 | 4 4 5 2 1 1 3 1 1 1 115 4 1100
60-69Ml| (179) (174) 35 21 ¢ 4 6 8 2 1 2 2 0 3 2 12 2 100
71 70M0|&H  (161) (152) 15 22 1 4 8 8 5 2 2 1 1 0 3 17 12 100
EN
Mg| (@188) (187) 33 11 6 6 5 2 2 4 2 0 0 1 23 6 100
QIM/A7||  (329) (327) 38 10 5 4 4 4 1 2 1 0 1 2 21 6 100
i/ MB/E8|  (103) (105) 35 1 9 7 7 6 4 4 2 1 0 0 4 19 4 100
2x=/Hal  (95) (96) 56 6 1 0 1 1 1 1 3 0 0 1 .18 11 100
/AL (96) (97) 8 24 13 . 6 6 7 2 1 3 4 0 2 221 100
EA/Z2M/4E| (149) (148) 17 15 11 6 5 4 2 1 0 1 2 5 24 7 100
Ze/AF @ 41) 24 111 110 7 9 5 7 2 2 0 2 0 16 5 100
T
IZE o|gH (364) (357) 27 18 1 6 5 7 4 1 1 2 1 1 2 18 0 8 1100
CHst Ris of&H  (631) (638) 35 8 8 5 3 3 2 2 1 1 1 3 23 5 100
- RE/RSH (6) (6) 34 0 0 0 17 .0 17 .0 0 0 0 0 15 17 100
A
S/Y/T2E (28) (27) 22 32 4 22 4 0 0 0 0 0 0 0 6 11 {100
I (187) (184) 34 15 8 5 6 3 1 1 2 2 1 2 19 0 2 1100
S2ZtaH (111) (110) 34 10 0 7 2 6 2 3 3 3 0 1 1 116 12 1100
2t0|EZEH  (329) (333) 40 7 5 4 4 3 3 3 1 1 0 3 22 3 100
FEI (71 172) 30 14 6 7 5 4 1 1 1 0 1 4 19 7 1100
sl (77) (83) 17 2 11 2 3 7 4 2 0 0 0 1 39 11 §100
SR/E[R/Z|EH  (94) (89) 19 i 18 1 10 | 5 5 7 1 2 1 1 0 2 20 8 100
o DE2/2SE ) 4 0 0 5.0 210 0 0 0 0 0 0 28 0 100
M AZ A
Aol AZ|  (236) (236) 38 10 1 8 7 5 3 2 3 2 0 0 1 18 3 1100
=2 AZ| 422 (421) 30 11 7 5 5 3 2 2 2 1 1 3 22 5 100
S5tel AS|  (302) (303) 30 14 7 5 4 4 1 1 0 1 0 3 23 7 100
DE/R2SE (41) 41 31 2 7 0 2 10 7 0 0 0 0 2 19 19 100
PNPNESL=S
HEeooFg  (337) (341) 73 1 1 1 1 1 0 2 2 0 1 1 9 6 100
= Qo3|  (342) (334) 1 29 16 11 1 5 1 2 1 1 0 3 114 5 1100
ZISAME  (63) (63) 63 0 2 2 0 3 2 0 5 2 2 0 19 2 100
WA (24) (24) 8 0 0 4 0 8 51 8 0 0 4 0 12 4 1100
T (10) (10) 30 0 0 0 0 10 0 0 10 0 0 0 5 : 0 100
J|EPEE  (29) (29) 0 24 0 0 3 0 0 0 0 0 0 28 :35 0 {100
S/2E/RSHE|  (196) (199) 10 5 6 4 3 5 2 2 1 1 0 1 152 10 {100
o|'d/g&k
RH| (250 (251) 64 = 3 1 2 2 2 1 3 3 1 1 4 14 2 100
o (306) (312) 34 6 6 4 5 4 3 3 2 1 1 1 126 5 1100
Hal (327) (320) 9 26 13 9 7 3 2 1 0 1 0 3 20 5 100
RE/SSE| (118 (118) 21 8 6 3 3 7 2 0 0 0 0 3 27 18 100
Etsli Mm Zar @t
HE oA (639 (645) 49 1 3 3 4 3 3 3 2 1 1 2 20 5 100
e THA[ (288) (280) 0 35 .15 9 6 5 0 1 0 1 0 4 20 4 100
DE/SEZEH| (74 (76) 6 12 10 7 7 5 3 0 0 0 0 0 38 14 100
Ctall Zal =85
=823 (731) (738) 43 1 3 6 4 5 3 3 2 2 1 1 2 20 5 100
20t (242) (235) 0 3 13 6 4 5 1 1 0 1 0 4 22 5 100
DE/2SE (28 (27) 6 18 0 15 0 0 0 0 0 0 0 0 37 24 100
At7] M QA
HAHAMEZE| (378) (371) 2 29 14 10 10 5 2 2 0 1 0 3 19 4 100
HELA|  (474) (479) 62 1 2 1 1 1 2 2 2 1 1 2 18 0 3 1100
DE/SSE| (149 (151) 11 4 8 5 5 8 3 1 1 0 1 1 35 17 1100
[
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[28-1] EYMA Sz AZED A O o

7 i | LS
BN FAZ] HIEUCL 22E2ls 2EE AW AN XIXE &9 5900 siEst= =S U

CH
BN A o
HH| N B S 20| Ztot 27:';1;”' RE/RSH A
() A 4=(F) e
m HA m (1,001) (1,001) 35 62 3 100
a4
EER (503) (499) 33 64 3 100
of X} (498) (502) 38 60 3 100
o
18-29A (145) (154) 22 75 3 100
30-39A (148) (151) 30 65 6 100
40-49AM| (168) (173) 44 56 0 100
50-59A (200) (197) 51 48 1 100
60-69A| (179) (174) 39 60 1 100
70M0] & (161) (152) 22 72 6 100
HEXY
Mg (188) (187) 35 64 1 100
QIE /A 7| (329) (327) 42 55 3 100
/MBS /58 (103) (105) 39 56 5 100
/et (95) (96) 64 34 3 100
/45 (96) (97 12 85 3 100
BAy2AA (149) (148) 20 77 3 100
ZE/M= 41) (41) 18 82 0 100
El=
1E 0|3} (364) (357) 31 66 3 100
CHst xst ofAb (631) (638) 38 60 2 100
RE/REY (6) (6) 34 49 17 100
A
S/8/4Y (28) (7) 22 67 11 100
N e R (187) (184) 35 63 2 100
=5zt (111) (110) 40 59 1 100
slo|EZtE} (329) (333) 43 55 2 100
=82 (171) (172) 36 62 2 100
st 77 (83) 18 78 4 100
FRI/E[ Rl /7| EF (94) (89) 21 72 6 100
RE/RSY 4 4 0 100 0 100
R AS AN
o2 AS (236) (236) 42 57 1 100
%9 AE (422) 421) 34 64 2 100
ste| A (302) (303) 33 64 3 100
RE/RSH 41 41 26 52 21 100
X[ x| =t
HEotxg (337) (341) 79 19 2 100
=0lo|gl (342) (334) 1 98 1 100
ZE =5l S (63) (63) 70 27 3 100
7= (24) (24) 16 84 0 100
Rl et (10) (10) 50 50 0 100
7|EtE g (29) (29) 10 90 0 100
s/ E/2SH (196) (199) 13 80 8 100
o|'d g%
NI (250) (251) 72 28 0 100
zc (306) (312) 37 60 3 100
= (327) (320) 10 90 0 100
RE/RSY (118) (118) 23 64 13 100
et Mok ZAap "It
= oA (639) (645) 54 44 2 100
A= oA (288) (280) 1 98 1 100
£/28% (74) (76) 8 79 13 100
CHell Zat =8
=83t (731) (738) 47 50 2 100
=g 0otst (242) (235) 1 99 0 100
2E/ESYH (28) (27 13 55 32 100
A7) M Q1N
HHNEE (378) (371) 3 96 1 100
FH K| (474) (479) 67 32 1 100
RE/RSY (149) (151) 14 74 12 100
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[E 8-2] OiM B8 SZE- Q) UES
[£8-2] IEedMA FTEZ HELD Y CFS QF ZtZtof| Cisi ZojLt = o] 7k L7ty = 40| Zict 40| 7k %EftE2 2510
LSOl FA|7| HIELICHL 2RERs TEE AN ZAOA XX 49 520 sigsts 2S5 LI
TR %
BN A o
HH| N B S 20| Ztot 27:';1[7?' RE/RSH A
() A 4=(F) e
m HA m (1,001) (1,001) 23 68 8 100
a4
EER (503) (499) 25 68 6 100
of X} (498) (502) 22 68 10 100
E]
18-29A (145) (154) 9 66 25 100
30-39A (148) (151) 13 81 6 100
40-49M| (168) (173) 13 82 5 100
50-59A (200) (197) 23 75 2 100
60-69A (179) (174) 41 58 2 100
70M0] & (161) (152) 41 45 14 100
HEXY
Mg (188) (187) 22 72 6 100
QIE /A 7| (329) (327) 22 70 9 100
L™/ M B/5E (103) (105) 21 69 1 100
“xm Er (95) (96) 6 84 10 100
o o4 (96) (97) 41 55 4 100
2A244 E.* (149) (148) 29 63 8 100
ZR/MF 41) 41 28 56 16 100
El=
1E 0|3} (364) (357) 32 58 10 100
CHst xst ofAb (631) (638) 19 74 7 100
RE/REY (6) (6) 17 48 34 100
A
S/8/4Y (28) (7) 47 35 18 100
N e R (187) (184) 26 71 3 100
=5zt (111) (110) 21 70 9 100
slo|EZtE} (329) (333) 17 80 4 100
== (171 (172) 31 59 9 100
Sl 77 (83) 8 68 24 100
£3 EI’S!/7|Er (94) (89) 39 45 16 100
T AE RE/RSY 4 &) 28 72 0 100
o [S e |
o2 AS (236) (236) 25 70 5 100
%9 AE (422) 421) 22 71 6 100
ste| A (302) (303) 26 65 8 100
2E/ESYH (41) (41 7 50 43 100
X[ x| =t
HEotxg (337) (341) 2 91 7 100
=0lo|gl (342) (334) 55 40 6 100
ZE =5l S (63) (63) 1 97 2 100
7= (24) (24) 8 80 12 100
Rl (10) (10) 0 100 0 100
7|EPEE (29) (29) 8 59 4 100
Se/BRE/RSH (196) (199) 15 67 18 100
o|'d g%
NI (250) (251) 5 92 3 100
e (306) (312) 15 77 8 100
= (327) (320) 49 46 5 100
RE/RSY (118) (118) 16 55 29 100
et Mok ZAap "It
= oA (639) (645) 6 87 7 100
A= oA (288) (280) 65 30 5 100
£/28% (74) (76) 21 51 28 100
CHell Zat =8
=83t (731) (738) 10 83 7 100
=g 0otst (242) (235) 66 27 7 100
RE/RSH (28) (7) 29 32 39 100
A7) M Q1N
HHNEE (378) (371) 55 41 5 100
A (474) (479) 4 92 4 100
RE/RSY (149) (151) 8 63 29 100
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(283 EYMA Sz AZED s g o

7 i | LS
BN FAZ] HIEUCL 22E2ls 2EE AW AN XIXE &9 5900 siEst= =S U

CH
BN A o
HH| N B S 20| Ztot 27:';1;”' RE/RSH A
() A 4=(F) e
m HA m (1,001) (1,001) 21 73 6 100
a4
EER (503) (499) 20 74 5 100
of X} (498) (502) 21 72 6 100
o
18-29A| (145) (154) 19 67 13 100
30-39A (148) (151) 14 82 4 100
40-49M| (168) (173) 17 81 2 100
50-59A (200) (197) 13 84 3 100
60-69A (179) (174) 25 71 4 100
70M0] & (161) (152) 38 52 11 100
HEXY
Mg (188) (187) 22 73 5 100
QIE /A 7| (329) (327) 20 74 6 100
/MBS /58 (103) (105) 20 72 9 100
/et (95) (96) 8 89 3 100
/45 (96) (97 26 68 6 100
BAy2AA (149) (148) 24 70 6 100
ZE/M= 41) (41) 25 66 9 100
El=
1E 0|3} (364) (357) 27 65 8 100
CHst xst ofAb (631) (638) 17 78 4 100
RE/REY (6) (6) 34 48 17 100
A
S/8/4Y (28) (7) 32 50 18 100
N e R (187) (184) 18 78 4 100
=5zt (111) (110) 16 78 5 100
slo|EZtE} (329) (333) 18 80 2 100
=& (171 (172) 26 68 6 100
st 77 (83) 16 69 15 100
FRI/E[ Rl /7| EF (94) (89) 32 57 11 100
RE/RSY 4 4) 52 48 0 100
R AS AN
o2 AS (236) (236) 19 78 2 100
%9 AE (422) 421) 21 73 5 100
ste| A (302) (303) 22 73 5 100
2E/ESYH 41 41 17 46 37 100
X[ x| =t
HEotxg (337) (341) 8 88 4 100
=0lo|gl (342) (334) 41 54 4 100
ZE =5l S (63) (63) 0 100 0 100
7= (24) (24) 33 51 16 100
Rl (10) (10) 0 100 0 100
7|EPEE (29) (29) 0 100 0 100
g8/ E/2SE (196) (199) 17 70 14 100
o|'d g%
NI (250) (251) 7 91 2 100
e (306) (312) 17 77 6 100
= (327) (320) 35 62 3 100
RE/RSY (118) (118) 21 56 23 100
et Mok ZAap "It
= oA (639) (645) 13 83 5 100
A= oA (288) (280) 35 60 5 100
£/28% (74) (76) 37 42 20 100
CHell Zat =8
=83t (731) (738) 17 79 4 100
=g 0otst (242) (235) 31 61 8 100
2E/ESYH (28) (27 40 26 35 100
A7) M Q1N
HHNEE (378) (371) 40 58 3 100
A (474) (479) 7 91 2 100
RE/RSY (149) (151) 19 57 25 100
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[£8-4] LISE

[E 8-4] OiM S5 SZE- (4) EF8
M7 2EHE AZED e OS Q= 2120 Cfsi Yot = 40| 7t U7 =Z40| ZtCh = 20| 7HX| §#=Ct2 7
LSOl FA|7| HIELICHL 2RERs TEE AN ZAOA XX 49 520 sigsts 2S5 LI
el %
ZAtets 75k .
A At == B S 20| Ztot 27:';1,:7”' RE/78H A
() Ab|4( o=
m M m (1,001) (1,001) 21 74 5 100
Aad
X (503) (499) 27 69 4 100
OfXH (498 (502) 15 79 6 100
E]
18-29A| (145) (154) 30 61 9 100
30-39A (148) (151) 28 65 6 100
40-49KM (168) (173) 19 80 1 100
50-59A (200) (197) 13 85 2 100
60-69A (179) (174) 22 76 2 100
70AM[0] & (161) (152) 16 74 10 100
HEX| Y
Mg (188) (187) 18 78 4 100
Q1M 7| (329) (327) 19 75 5 100
CHE/MB/5E (103) (105) 20 74 6 100
Zz= /et (95) (96) 9 88 3 100
/45 (96) (97) 37 56 7 100
A 2A/EE (149) (148) 28 69 3 100
ZR/HF 41 41) 24 73 2 100
=i
1E 0|8l  (364) (357) 20 74 7 100
CHst xSt of Ak (631) (638) 22 75 4 100
DE/RSH (6) (6) 34 48 17 100
A
S/8/4Y (28) (27) 15 70 15 100
N R (187) (184) 22 74 3 100
=25Zet 111) (110) 19 77 4 100
slo|EZEt  (329) (333) 21 77 2 100
FE 71 (172) 19 77 5 100
st 77 (83) 27 63 10 100
S Al/E| Rl /7| B (94) (89) 21 68 12 100
DE/RSH &) 4) 52 48 0 100
ZHH AS N
o2 A (236) (236) 26 72 2 100
=% AS (422) 421) 19 77 4 100
stel AE (302) (303) 19 75 5 100
DE/2SE 41 41 24 50 26 100
X xEg
HEofnls (337) (341) 9 88 3 100
=0lo|gl (342) 334) 41 55 4 100
e Pl (63) (63) 6 91 3 100
N Mg (24) (24) 25 75 0 100
Rl (10) (10) 0 100 0 100
7|Eb gt (29) (29) 7 93 0 100
es/RE/2S8H (196) (199) 15 73 12 100
o|'g-dgt
Rl (250) (251) 10 88 2 100
55 (306) (312) 20 76 4 100
Ha (327) (320) 33 65 1 100
DE/RSH (118) (118) 14 64 22 100
Etslf Mz Zar @t
e A (639) (645) 14 82 4 100
HEE A (288) (280) 35 60 5 100
£/28Y (74) (76) 30 56 14 100
Erel Znl 8%
+83t (731) (738) 18 79 3 100
8ot (242) (235) 32 63 5 100
DE/SESH (28) (27 15 43 43 100
A7) M Q14
HHNEE (378) (371) 38 59 3 100
Ry | (474) (479) 10 88 2 100
DE/RSH (149) (151) 16 66 18 100
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[# 8-5] OiM 28 3ZE- (5) &2
[28-5] IEdMA FTEZ HELD Ye CS QF Z4ZHo| Cisi LojLt = o] 7k L7ty = 40| Zict 40| 7k ZECtE2 28t
LSOl FA|7| HIELICHL 2RERs TEE AN ZAOA XX 49 520 sigsts 2S5 LI
TR %
BN A o
HH| At == B = Zo| Ztct 27:';1[7?' RE/RSH A
() A 4=(F) e
m HA m (1,001) (1,001) 19 75 6 100
a4
EER (503) (499) 19 75 6 100
of X} (498) (502) 18 75 7 100
E]
18-29A| (145) (154) 10 78 12 100
30-39A (148) (151) 18 75 7 100
40-49AM| (168) (173) 17 82 1 100
50-59A (200) (197) 16 80 3 100
60-69A| (179) (174) 22 73 5 100
70M0] & (161) (152) 29 60 12 100
HEXY
Mg (188) (187) 20 76 4 100
QIH /47| (329) (327) 21 71 7 100
/MBS /58 (103) (105) 17 77 7 100
“x/ﬂ Er (95) (96) 9 86 6 100
o4 (96) (97) 18 74 8 100
2A244 E.* (149) (148) 19 75 6 100
ZR/MF 41) 41 18 79 2 100
El=
1E 0|3} (364) (357) 22 70 8 100
CHst xst ofAb (631) (638) 17 78 5 100
RE/REY (6) (6) 17 51 32 100
A
S/8/4Y (28) (7) 11 74 15 100
N e R (187) (184) 19 77 4 100
=5zt (111) (110) 19 77 3 100
slo|EZtE} (329) (333) 17 79 3 100
== (171 (172) 26 68 6 100
Sl 77 (83) 9 77 14 100
£3 EI’S!/7|Er (94) (89) 18 65 16 100
TS RE/RSY 4 4 21 79 0 100
o [S e |
o2 AS (236) (236) 18 79 4 100
%9 AE (422) 421) 20 75 6 100
stel AS (302) (303) 17 77 6 100
RE/RSH 41 41 19 46 35 100
X[ x| =t
HEotxg (337) (341) 11 85 4 100
=0lo|gl (342) (334) 30 65 5 100
ZE =5l S (63) (63) 9 91 0 100
7= (24) (24) 34 58 8 100
Rl (10) (10) 0 90 10 100
7|EtE g (29) (29) 10 90 0 100
s/ E/2SH (196) (199) 16 69 15 100
o|'d g%
NI (250) (251) 12 85 3 100
zc (306) (312) 21 72 7 100
= (327) (320) 22 75 3 100
RE/RSY (118) (118) 18 60 21 100
et Mok ZAap "It
= oA (639) (645) 17 77 5 100
A= oA (288) (280) 21 75 5 100
=/£8H (74) (76) 21 58 21 100
chell Al =8E&
=83t (731) (738) 19 76 5 100
=g 0otst (242) (235) 17 78 5 100
2E/ESYH (28) (27 17 36 47 100
A7) M Q1N
HHNEE (378) (371) 27 70 3 100
A (474) (479) 12 84 4 100
RE/RSY (149) (151) 20 59 21 100
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[29] oY 23 LA X RICHHE MEHHME ol HY SE0H Frsd dZo|dunt BV R2 =02 ZE|FSLHICH
cHe
ZAttR V=t H=0] 20|03 e JHE AT R :Ell.ggl =N ngy
A At == = = =20 =lEy L B 5 R ATk Y A
~ S s S SH M LCH S oorCcth
=3
®m M m (1,001) (1,001) 37 32 2 2 1 2 2 19 5 100
Al
X (503) (499) 35 34 2 2 1 1 1 19 4 100
OfXH  (498) (502) 39 29 2 1 1 3 2 18 6 100
oy
18-29Ml|  (145) (154) 27 20 2 5 1 2 3 32 8 100
30-39Al|  (148) (151) 32 26 3 1 2 3 3 25 5 100
40-49Ml[  (168) (173) 45 23 3 1 0 3 1 20 4 100
50-59AM||  (200) (197) 51 24 2 1 1 2 2 14 4 100
60-69Ml| (179) (174) 37 42 2 2 1 1 1 12 3 100
70MI0]AH  (161) (152) 23 56 0 1 0 1 0 11 9 100
HEXY
Mg| (188) (187) 40 32 0 2 1 1 1 20 3 100
QIE/A7Il  (329) (327) 38 28 3 1 1 3 1 21 5 100
CH™/MB/5E|  (103) (105) 38 35 1 3 0 2 0 17 4 100
HZ/HeH  (95) (96) 69 7 5 0 1 0 1 10 7 100
/25| (96) 97) 15 48 1 1 0 1 5 20 8 100
Hibygo/dE  (149) (148) 21 41 2 2 1 3 3 19 7 100
ZR/MF] @) 41 30 38 0 5 0 0 2 14 10 100
i
= 0|8l (364) (357) 32 43 1 1 0 1 1 14 6 100
CHst &St oAt (631) (638) 39 25 2 2 1 2 2 21 5 100
DE/RESH (6) (6) 34 32 0 17 0 0 0 0 17 100
A
S//4 (28) (27) 22 58 0 0 0 0 6 11 3 100
AAAl (187) (184) 36 36 2 1 0 2 2 19 3 100
=2ZaH  (111) (110) 37 31 2 0 1 2 2 22 5 100
Sto|EZE  (329) (333) 46 23 3 3 1 2 2 16 5 100
FE (71 (172) 36 38 1 1 1 2 2 11 10 100
st (77) (83) 28 18 2 4 1 0 1 40 5 100
BXI/E|Rl/7|EH  (94) (89) 20 46 2 1 1 4 0 20 5 100
RE/ESH 4 4 0 72 0 0 0 0 0 0 28 100
ZHH AS AN
A9l AHE| (236) (236) 43 31 1 3 0 0 2 17 2 100
=2 AB| (422 421) 37 33 1 1 1 1 1 19 6 100
skl AE| (302 (303) 33 32 4 1 0 4 2 19 4 100
RE/ESH| @) (41 22 18 0 2 0 2 2 22 30 100
X xgg
e Bxg  (337) (341) 87 1 1 0 1 0 0 7 4 100
ool (342) (334) 1 87 0 0 0 1 1 7 4 100
ZIYME  (63) (63) 57 0 25 0 0 0 0 15 3 100
INEAE]  (24) (24) 8 8 0 63 0 0 0 17 4 100
T=g  (10) (10 60 0 0 0 40 0 0 0 0 100
J|EFEE  (29) (29) 10 14 0 0 0 49 3 24 0 100
US/2E/ESE|  (196) (199) 11 9 0 1 1 1 6 60 12 100
o|'3-d%t
| (250) (251) 72 6 3 1 2 2 0 10 3 100
S| (306) (312) 38 21 4 2 0 2 2 27 4 100
Hl o (327) (320) 12 64 0 2 0 2 2 15 4 100
DE/EZE|  (118) (118) 24 29 1 1 0 0 2 25 18 100
Etslf Mmk Zap ®ot
el WAl (639) (645) 55 10 2 1 2 1 20 5 100
HEE mA|  (288) (280) 1 80 0 0 0 2 2 11 4 100
DE/RESH| (74 (76) 9 36 0 3 0 0 5 34 13 100
Etell An} 8%
=88 (731) (738) 49 17 3 2 1 2 1 20 5 100
F80otst  (242) (235) 2 77 0 0 0 2 3 13 4 100
DE/RSH| (8 (27) 7 33 0 0 0 0 4 36 21 100
Xt7| cHM Q1A
SHEMEE|  (378) (371) 4 75 1 1 0 1 2 13 4 100
HEDH| @474 (479) 70 2 4 2 1 3 1 14 3 100
DE/2ZE| (149 (151) 10 18 1 2 0 1 4 46 18 100
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[E 10] CHM Q1A - HETEZE vs A
[210] MEEHNME X7| HEBM A0 oot TS 2[74 & ofC|o| o SASHA LI
el %
NS 7vsak HHMWE=S flol  HHDANE s ofA
A Al == = o 257t SHI} dMfojof  RE/FSE A
) At ==(H) M [ojof otCt St}
m M m (1,001) (1,001) 37 48 15 100
Ad
=R (503) (499) 40 47 14 100
of X} (498) 502) 35 49 16 100
o
18-29A| (145) (154) 27 48 25 100
30-39A (148) (151) 36 49 15 100
40-49M| (168) (173) 28 57 15 100
50-59A (200) (197) 31 62 6 100
60-69A (179) (174) 44 44 12 100
70M| O] & (161) (152) 59 21 20 100
HEX A
Mg (188) (187) 38 49 13 100
Q1M 7| (329) (327) 33 52 15 100
/MBS /58 (103) (105) 35 50 15 100
/et (95) (96) 14 74 12 100
/8= (96) (97) 57 25 18 100
Si/E/BE| (149 (148) 46 37 17 100
ZR/HIF (41 (41 47 38 16 100
Bh=
nE o|st (364) (357) 46 38 16 100
CHSE xSt of At (631) (638) 32 54 14 100
DE/28H (6) (6) 34 17 48 100
A
S/8/44 Y (28) (27) 56 22 22 100
e (187) (184) 39 48 13 100
=FZet 111) (110) 32 52 15 100
slo|EZte} (329) (333) 32 57 11 100
=5 (171) (172) 42 39 19 100
st 77 (83) 25 52 24 100
£ A& &l /7| Ef (94) (89) 53 30 17 100
S/28H 4 4 72 0 28 100
ZHE AFE AN
A9l A= (236) (236) 36 53 11 100
3% AS (422) (421) 39 48 13 100
Stel AS (302) (303) 37 47 17 100
DE/RSH (41 (41 24 24 52 100
X x|gg
H=0{olxg (337) (341) 5 88 8 100
=0l9o/3 (342) (334) 87 5 8 100
e Pl (63) (63) 3 89 8 100
7 k= Rl (24) (24) 25 51 24 100
Rl gt (10) (10) 0 100 0 100
7|EPY S (29) (29) 44 52 3 100
s/2E/R8E (196) (199) 22 34 44 100
o|'d-dgt
e (250) (251) 9 86 5 100
= (306) (312) 26 55 19 100
Ha (327 (320) 73 19 8 100
DE/28H (118) (118) 28 28 43 100
Etslf Mmt Zar @t
S (639) (645) 14 71 15 100
HEE A (288) (280) 89 3 8 100
=/28H (74) (76) 40 18 42 100
Ctall Zal =8
+83at (731) (738) 22 63 15 100
+gotst (242) (235) 86 4 10 100
DE/RSHEH (28) (27) 29 7 64 100
Xt7| cHM QlM
FHE=E (378) (371) 100 0 0 100
HAHDKA| (474) (479) 0 100 0 100
DE/RSH (149) (151) 0 0 100 100
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[E 1] XX

[E1M&E11-1] S HHME= O F ol YE XXt UN? BE2 =22 S E2AELH T
Y, o YA =S0l2t: o SZ0| 7t HoJtR? &L =02 S E2|ZEL|
CHRl %
EN = I = o ~ X|X|5t= =
A veis | =g | AZH seoy SR omuw ammg 2 F mma S A
(%1) Al_E:”_/'\_(DO;‘) =T o o — OO gil:l_ T od
m M m (1,001) (1,001) 34 33 6 2 1 3 19 0 100
a4
X (503) (499) 32 36 7 4 0 3 19 0 100
OfXH  (498) (502) 36 31 1 2 3 20 1 100
ol
18-29M||  (145) (154) 30 22 5 6 0 2 35 1 100
30-39AMl|  (148) (151) 31 28 4 2 2 3 28 1 100
40-49M|  (168) (173) 40 25 6 2 1 3 21 0 100
50-59Al|  (200) (197) 44 25 13 1 2 4 12 0 100
60-69Al|  (179) (174) 32 44 7 2 1 3 10 1 100
70M0|&  (161) (152) 25 58 1 1 0 2 12 1 100
FX 4
ME| (188) (187) 34 33 4 3 1 4 21 0 100
QIM/A7||  (329) (327) 36 28 7 2 1 4 21 0 100
™/ MB/58|  (103) (105) 34 37 9 3 0 2 16 0 100
ax=/Hel (95) (96) 69 9 13 0 2 1 5 0 100
H/AE|  (96) 97) 14 56 4 1 0 1 22 2 100
SA2M/4E| (149) (148) 22 42 5 2 1 3 24 1 100
ZR/AF] @1 (41 26 44 5 7 0 2 16 0 100
T
nE O|sH (364) (357) 29 45 5 1 1 2 16 1 100
CHst Ris of&H  (631) (638) 37 27 7 3 1 3 21 0 100
DE/RSH (6) (6) 48 17 0 17 0 0 17 0 100
A
S/2/40 (28) 7) 19 63 7 0 0 0 7 3 100
I (187) (184) 31 35 6 1 1 4 22 0 100
=2Z2H  (111) (110) 40 32 6 1 1 4 17 0 100
2t0|EZE  (329) (333) 42 26 8 4 1 2 16 1 100
FE A7) (172) 29 41 7 2 1 2 17 1 100
st (77) (83) 31 16 5 5 0 1 42 0 100
ZRI/E|Rl/7|EH  (94) (89) 23 51 2 1 2 5 16 0 100
RE/RSH 4 4 0 72 0 0 0 0 28 0 100
A AZ AM
A2 AZE| (236) (236) 36 31 7 3 2 3 18 0 100
= AB| (422 421) 34 36 4 2 1 2 20 0 100
S5tQ| AZ|  (302) (303) 31 34 10 1 1 5 19 0 100
DE/2SE @41 41) 39 22 0 5 0 0 27 7 100
X x| d
HEoox=g|  (337) (341) 100 0 0 0 0 0 0 0 100
0ol (342) (334) 0 100 0 0 0 0 0 0 100
=AM (63) (63) 0 0 100 0 0 0 0 0 100
WAL (24) (24) 0 0 0 100 0 0 0 0 100
=S (10) (10) 0 0 0 0 100 0 0 0 100
JIEFEE  (29) (29) 0 0 0 0 0 100 0 0 100
S/2E/ESHE|  (196) (199) 0 0 0 0 0 0 98 2 100
o|'d/dgk
| (250) (251) 63 6 11 2 2 3 12 0 100
SZ|  (306) (312) 35 23 9 3 1 2 26 0 100
Ha=l (327) (320) 12 66 1 2 1 5 13 0 100
DE/28E|  (118) (118) 28 30 4 2 0 0 34 2 100
Etsl Mmb Zap ®ot
el ZHAl (639) (645) 51 11 10 3 1 3 20 0 100
gl oA (288) (280) 1 84 0 1 0 4 10 0 100
2E/REH| 74 (76) 9 39 0 4 0 1 45 1 100
Etoll Al 8%
=83t (731) (738) 46 18 9 3 1 2 20 1 100
20t (242) (235) 1 81 0 1 1 5 12 0 100
DE/ASH| (28 (27) 7 29 0 0 0 4 61 0 100
Xt7| cHM QI
SHMEE| (378) (371) 4 78 1 2 0 3 12 0 100
HELA|  (474) (479) 62 4 12 3 2 3 14 0 100
DE/ESE|  (149) (151) 17 17 3 4 0 1 55 3 100
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